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1. When imaginary part of a complex number is zero then it reduces to,  

a) Real number 

b) Imaginary number 

c) Its complex conjugate  

d) Argument of z 

Ans= a 

 

2. Two complex numbers are equal when, 

a) Real parts are equal  

b) Imaginary parts are equal 

c) Real parts are equal to imaginary parts 

d) Real parts are equal and imaginary parts are equal 

Ans= d  

 

3. The complex conjugate of a complex conjugate number is, 

a) z  

b) |z| 

c) √z 

d) -z  

Ans= a 
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4. If   z   is complex conjugate of z then real part of z +z will be, 

a) x  

b) 1/2x 

c) 1/2y 

d) 2x 

Ans= d 

 

5. If z= √1 + 𝑖 then the product z z will be, 

a) 1 

b) 2 

c) √2 

d) 1-i 

Ans= c 

 

6. The modulus of complex number is, 

a) Real number 

b) Imaginary number 

c) Again a complex number 

d) None  

Ans= a 

 

7. The argument of the quotient of two complex number is, 

a) z 1+z2 

b)  z 1*z2 

c) z 1=z2 

d) arg z 1- arg  z2 

Ans= d 

 

 

8.  The absolute value of complex number z= 3 - 4i is,   

a) 3  

b) 5 

c) 7 
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d) 9 

Ans= b 

 

9.  (sinɵ  + sinɵ)n is equal to, 

a) eiɵ 

b) n eiɵ 

c) n(cosɵ  + sinɵ) 

d) eniɵ 

Ans= d  

 

10.  If sinh(iɵ)=    eiɵ- eiɵ 

                                           2  

a) sinɵ 

b) cosɵ 

c) isinɵ 

d) icosɵ 

   Ans= c 

 

11.  The radial part of complex velocity of a particle is……. 

a) eiɵ 

         b) reiɵ 

         c) 𝑟̇eiɵ 

         d) ɵ̇ eiɵ 

             Ans= c  

12. The transverse component of acceleration at is….. 

a) 2𝑟 ̇  ɵ̈ 

b) 2rɵ 

c) rɵ 

d)  2𝑟 ̇  ɵ̈ + rɵ̈ 

Ans= d 
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13.   If z=√1 + √3𝑖  then z will be  

  a) 1 

  b) 2 

 c) 3 

 d) √2  

   Ans = d 

 

14. 𝑧 = √3
3

 + 3i then argument of complex number will be  

  a) 300 

  b) 400 

  c) 500 

  d) 600 

      Ans= a  

15. If complex number z= r*ei π/2 is rotated through π/3 in the   clockwise 

direction then arg(z) will be…… 

  a) π 

   b) π/3 

  c) π/6 

  d) π/4 

   Ans= c 

16. If arg(z1)= π/2 and arg(Z2)= π/4 then arg(z1/z2) will be …. 

   a) π/3 
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   b) π/4 

   c) π/6 

   d) π/5 

  Ans= b  

17. If   z   is the complex conjugate of the complex number z then Re (z) will be 

….. 

  a) z+ z 

  b) z- z  

  c)  z+ z /2  

  d) z- z /2  

   Ans= c  

18. If x2-4x +11 = 0 then the roots of equation will be……. 

 a) 2±√3 𝑖  

 b) 2±√5 𝑖  

 c) 2±√7 𝑖  

d) - 2±√3 𝑖  

  Ans = c  

19. If   |z+2| = 3|z-2| represents a circle having radius,  

a) 1/2 

b) 3/2 

c) 5/2 

d) 7/2 

  Ans= b 
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20. The real part of the function 𝜔 = sin 𝑧 𝑖𝑠,   

a) sin x cos x  

b) sin y cos y 

c) sin x cosh y 

d) sinh y cos x 

  Ans= c 

21. z= i+ i2 , the value of x is  

a) 1 

b) 0 

c) -1 

d) None of these  

   Ans= c  

22. z= i+ i2 , the value of y is 

a) 0  

b) 1 

c) 3  

d) None of these  

  Ans= b 

 

23. The root of the eqution x2-4x+13 is.. 

 a) 2±√3 𝑖  

 b) 2±√5 𝑖  



Physics Paper I /MCQ 

 c) 2±√7 𝑖  

d) - 2±√3 𝑖  

   Ans= a  

24. The sum of (3+2i) and (2-5i) is… 

  a) 5+ 7i 

  b) 5+ 3i 

  c) 5-3i 

  d) None of these  

   Ans= c  

25. The product of (3+2i) and (2-5i) is… 

  a) 5+ 7i 

  b) 5+ 3i 

  c) 5-3i 

  d) 16-11i 

   Ans= d 

26. The quadratic equation in z, if roots are (3±4𝑖)  

   a) z2-5z+52=0 

   b) z2-6z+52=0 

   c) z2-6z+25=0 

  d) z2-5z+25=0 

      Ans= c  

  27. The value of (1=i)8  is… 
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  a) 10 

  b) 12 

  c) 16 

  d) 8  

  Ans= c 

28. The principal value of -1 is… 

  a) i 

  b) iπ 

  c) 0 

  d) –i 

    Ans= b  

29. The value of e πi is… 

   a) 1  

   b) -1  

  c) 0 

  d) 3  

   Ans= b  

30. The value of eπ/2 is... 

 a) 1 

 b) -1 

 c) i 

d) –i 

   Ans= c 
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31. The value of ln (-5) is... 

 a)  1.6 

 b) 1.6094+ iπ 

 c) Zero 

 d) 1 

   Ans = b  

32. The value of i+i2+i3+i4 is   

 a) zero  

 b) 1 

 c) -1  

 d) 2 

   Ans= a   

33. If z= 3-2i, then |z|=?  

  a) √11 

  b) √12 

  c) √13 

  d) √14  

  Ans= c 

34. Euler’s formula is… 

 a) cosɵ + isinɵ = eiɵ 

 b) cosɵ -  isinɵ = eiɵ 

 c) cosɵ * isinɵ = eiɵ 
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 d) cosɵ ÷ isinɵ = eiɵ 

Ans= a  

35. Exponential form of complex number is.. 

 a) cosɵ + isinɵ = eiɵ 

b) r (cosɵ + isinɵ) = r eiɵ 

c) cosɵ -  isinɵ = eiɵ 

d) r (cosɵ - isinɵ) = r eiɵ 

  Ans= b  

36. The polar form of complex number is.. 

a) z =  (cosɵ + isinɵ) 

b) z = r (cosɵ - isinɵ) 

c) z = r (cosɵ *  isinɵ) 

d) z = r (cosɵ + isinɵ) 

   Ans= d  

37.  In the polar form, the complex conjugate of z is… 

  a) z =  (cosɵ + isinɵ) 

  b) z = r (cosɵ - isinɵ) 

  c) z = r (cosɵ *  isinɵ) 

  d) z = r (cosɵ + isinɵ) 

   Ans= b  

38. Argand diagram means… 

 a) Graphical representation of the complex number on a complex plane 

 b) Graphical representation of the complex number on a plane 
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 c) Graphical representation of the complex number 

 d) All of these  

    Ans= a  

 39. Equation of De-Moivre’s theorem is… 

  a) (cosɵ + i sin ɵ) = cosɵ + i sinɵ 

  b) (cosɵ + i sinɵ) = cosn ɵ + i sinɵ 

  c) (cosɵ + i sin ɵ) = cos(nɵ) + i sin(nɵ)  

  d) (cosɵ + i sin ɵ) = cosiɵ + i sinɵ 

   Ans= c  

  40. The value of (1+_i) 8+ (1-i)8 ... 

     a) 16 

     b) 8 

     c) 4  

    d) 32 

     Ans= d  

 

 

State True or False  

1. All the rules of algebra of real numbers are not obeyed by the complex 

numbers. 

a) True        

b) False 

Ans= b 

 

2. The product z z is always real and positive. 
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a) True  

b) False 

Ans= a  

 

3. In the polar form of complex number, the angle ᶿ is called amplitude of z 

and written as amp (z). 

a) False 

b) True 

Ans= b 

 

4. In the product of two complex numbers, arg (z1 z2) = arg (z1) - arg (z2). 

a) True  

b) False 

Ans= b 

 

5. The roots of unity z = (1) 1/n are symmetrically spaced around a unit 

circle. 

a) True 

b) False 

Ans= a 

 

6. For any real y, |eiy| is equal to zero. 

a) False 

b) True 

Ans= a 

  

7. In case of exponential function of complex variable ez +2nπ= ez, therefore 

ez is not periodic function. 

a) True 

b) False 

Ans= b 

 

8. The hyperbolic sine function is related to trigonometric sine function by 

sinh iz = sin z. 

a) True 
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b) False 

Ans= b 

 

9. The imaginary part of z is given by Im(z) = z – z. 

a) True 

b) False 

Ans= b 

10. If Ѡ = tan z then real part of  Ѡ is Re (Ѡ)=     sin2x 

                                                                    Cos2x+ cosh2y 

a) True 

b) False 

Ans= a 


